\ / HAS-D M12/M16/M20

223766-04.2021
HIT-HY 200
M12x160 16 12...25 14 182 228 90 18/19* 30
0
fﬁ] M12x185 16 12...50 14 157 =228 110 18/19* 30
M16x200 20  16...30 18 165 =236 122 24 50
A hd =~ tix
| M16x220 20  16..50 18 185 =36 138 24 50
M20x280 26  20..50 24 232 248 174 30 80

1] : = h
: ‘ HIT-HY 200 | | | :
I |

— e

D=
HIT-SZ a

——r 1] HIT-RE-M

=

IIIIIIIIIIII_]\““ """ -




/ HAS-D M12,/M16 /M20

@tm HIT-HY 200

5 |
@tm HIT-HY 200

o
e

1]

ool

*M12 - SW19

‘9

@i‘

*M12 - SW19

m@u




/ HAS-D M12,/M16 /M20

.

HIT-HY 200
Mi2x160 14 12..25 14 132-t =28 125t 70-t_ 18/19* 30
d
NN fm Mi2x185 14 12..50 14 157-t_ =228 150, 90-t_ 18/19* 30
M16x200 18 16..30 18 165-t_ =36 155- 110-t 24 50
A ho —> = tiy
| M16x220 18 16..50 18 185-t_ =36 175t 125-t 24 50
M20x280 24 20..50 24 232-t_>48 220-t_165-1_ 30 80

1] h 2]
: | HIT-HY 200
€T I —— he

S SN } -— | D

) _Gmin

=T HIT-RE-M

4] N 4a) 4b]
h Tt HIT-HY 200 @
%h
2L | ) _ 7S
—_—_ . ‘..

i
4c) @ @tm HIT-HY200

O}




5) 5)
NP el ) , 5+
(DO )Mﬂ%\ (DT )MS(
Ol Ol
5]
e HIT-HY 200
j
(OO (I \ Il
e T Ue
5] 9]
*M12 - SW18
SW*
1 (-\i-rinst
m *M12 - SW19
iz




